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| PART A |
. . GENERAL ABILITY AND INTELLIGENCE
1. In which one of the following countries is | 4.  Which one of the following are separated by

Chabahar Port located ? ' Ten Degree channel ? .
‘ (a) - Car Nicobar and Little Nicobar

(a) Afghanistan .
' ‘ ' (b) Little Andaman and Middle Andaman
®) Turkey ‘ T . (@ CarNicobar and Little Andaman
() UAE | ‘ ‘ ‘ L - (d) Little Andaman and Great Nicobar
(d) Iran ' '

5. Which one of the following metals is

' . o ed with gold to provide strength to th
. 2. . Which one of the following has recorded the mixed with go provide s ngth e

jewellery ?
highest decadal (2001 -11) growth rate of y il
. - (a) Manganese
population as per Census 2011 ?
S ‘ (b) Mica .
(@ - Rajasthan o (¢ Aluminium
)N Ai‘qnachal Pradesh - (d) -Copper

() Puducherry 6. In which one of the following cases did the

(d) Dadra and Nagar Haveli Supreme Court of India adjudge that the .
_ - _ proclamation of the President’s Rule under
8. Match List I with List IT and select the correct A.tti(ﬂe 356 of the AConstitution of India is
"~ answer using the code given below the Lists :- subject to ] udlclel ?ewew ) .
ListI . ListIl (@ AX Gopalan vs. State of Madras )
. (Mountain range) . .(Country) () S.R. Bommai and Others vs. Union of
A. Caucasus Mountains 1. Italy , India
Ll . ‘ (c) © Madhav Rao vs. Union of India
B." Carpathian Mountains 2. Greece . L
o : (d) S.P. Gupta vs. Union of India
C. Apennine Mountains 3. Georgia : ‘
D. Pindus Mountains ' 4.‘ Ukraine. 7. The era of planned development is said to

have begun with which of the following ?

_ . . (a) The People’s Plan prepared by M.N. Roy
Code H N X ’ - . in 1945 .

() The Bombay Plan prepared by
(@) - J.R.D. Tata and Ot.here in 1944
(b) (©0 The Gandhian Plan prepared by

S.N. Agarwalm 1944

(d) Five-Year Plan presented by J awaharlal
. " Nehru in 1951
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8. . Which of the following is not among
the functions of the Election Comm1ssmn of
India? ’ A
(a) To conduct elections to the Parliament

and State Legislatures _
| (b) To supervise, direct and control the
preparations of the electoral rolls in a
~ State .
© To condu;:t elections to the offices of the
» President and the Vice-President
(d To conduct electwns to local bodles hke
"' municipalities etc.

9. ‘Garam Hawa’, a movie that depicts the |
hardship and indecision of the protagonist, is
related to which one of the following events ?
(a) The Sepoy Mutiny v
(b) . The Indigo Rebellion

() The Partition of India
(d The Paika Rebellion

10. The Vohra 'Committee Repert (1993) was
related to which one of the followmg areas ?
(a) Police Reforms

-(b)  Electoral Reforms
(c) . Judicial Reforms
(d) . Market Referms
11. The Chlpko Movement is related to which one
" . ofthe followmg issues ?
(a) Land rights of tribals - -
(b) Commercial logging
(©  Atrocities against Dalits -
(d) Rights of farmers
KLFG-U-VBY (5-

12.

13.

14.

15.

A).

(a)

(d)

Which one of the following Acts added a Law
member to the Governor General’s Council in
India ? -

(a) The Regulating Act of 1773

(b) 'The Pitts India Act of 1784

(c) The Charter Act of 1833 |
'The Charter Act of 1813

@

-Gandhiji’s first major pub]ic appearance in

India happened in which one of the follmeg'

cities ?

(a) ‘Bombay, 1;908

(b) Banaras, 1916

() Surat, 1915
Delhi, 1915

d

Who did not accompany Gandhiji during his - |
visit to the NWFP in October, 1938 ?
_Sushila Nayaf |

() Amtus Salam

(c) Jawahg;lal Nehru
Khan Abdul Ghaffar Khan

The first Indian Factories Act was passed in :

" (a) 1858
® 1861
(¢) 1881
(d). 1905
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- respectively. How much does C get from her

‘Provincial Autonomy’ was the most
redeeming featire of which one of the
following Acts ?

(a) The Government of India Act, 1919
(b)  The Government of India Act, 1935
(© The Rowlatt Act, 1919

(d) The Indian Councils Act, 1892

At the begmmng of the Swadesh1 Movement
in 1905, who was the Secretary of the Banglya
Sahitya Parishad ?

(a) Rabindranath Tagore .

(b)- Ramendrasundar Tnved1
(c) Satish Chandra Mukherjee
(d Raja Subodh Mullick .

A train of 150 m length crosses a milestone in
10 seconds. Another train with the same
speed crosses the milestone in 12 seconds.
What is the length of the second train ?

(a) 180m
(b) 120m
(0 200m
@ 100m

A mother gives pocket money to her three
children A, B and C in the ratio 3 : 4 : 5
respectively. Then the father gives ¥ 40 to
each child. As a result, the pocket money of
A, B and C now has the ratio 5:6:7

mother ?

(a) T80
®) T 100
() T 120
@ <T60

20.

21.

23.

(7-A)

If. the 1* of January of a non-leap year is a
Monday, then which one of the following days
will the 31%® of December of that year_be ?

(a) Monday '

(b) Tuesday

(c) Sunday

(d) * None of the above

~

A shopkeeper gives a discount of 10% on his
items. ¥ 280 is the marked price of an item.
On selling this item, the shopkeeper earns a
profit of 26%. What is the cost pnce of the

. item ?
(a) T 260
(b) ¥ 240
© 200
@ T 180

“In order to convert a loss of 5% to é profit ofv

5%, a shopkeeper raises the price of an item
by ¥ 500. What is the cost price of the item ?

(@ ¥ 1,000
®) ¥ 5,000
© ¥ 10,000
@ T 1,200

When the square of the sum of two numbers
are added to the square of their difference, we
get 416. The difference between the square of
the sum and square of the dlﬂ'erence is 384

What are the numbers ?
(a) 18 and 24

(b) 12and 16

(c) 8and12

@ 10and 12



24, W 3N o T WO 3 owEe ¥ A |
T % 9 wew W w0 Red g |

| mﬁq@ﬁeﬁ%?

- 25.

26.

27,

'(b).n'éfan-'

(a) &

® S

(©) BHER (B-ERE)
@ whei

PR 7 @ ol gt 3 e-wEE e

_ (maﬁrﬁﬁﬁﬂw)%mﬁamm%?

() RfFEafrr =
®) " Sharsa
(c) . a'lgqsa
(d) Sham (sww)

.mﬁnw@ﬁaﬂt@ﬁﬁ), IS, @,

Hie ot Wrarget F fifdm men ¥ Sa ww

& | Frafefem # & B I & e
(FF) 7 22 :

(a) TEH

© 3
(@) St

mméﬂaaﬁﬁmﬁlﬁaﬁﬁﬁmﬁﬁaw
(frem) ¥ @, St gehgeh, agaﬁﬁaﬁa 3t
FATHT-Everdt 8 2 ,

V'(a)SﬁﬁR‘l

KLFG-UVBY

FORR: tL

© FI% (tiﬁrré)
@ tﬁﬁi%m

28.

froffen § ¥ fre B s (@w
Wﬁﬁ)mﬁwﬁﬁm 7 AR R
(@ e ()

() TEEEw

29.

. | 30.

(8-A)

(c) g

(@ Tifesh TR

arefes g ol g gl (e @) %

@ TR 3T e |

(b) T F e

@ wmma P

(@ v fise

Pt 3 & Rt T v (A
wia) Fe &2

@ mwﬁﬂmmm%
b ¥, o e Qi % R

TSl AT T R |
© ¥ v, v 9 e v § R wm
@ ¥ T S e e % v & dag
% .



The organic component of soil, formed by the
decomposition of leaves and other plant
materials that adds to the fertility of the soil

'is ‘called :
(a) Humus.
() Top soil.

(¢) - B-horizon.
Cd)

Mineralization.

" Which one of the following .is known as the

life-supporting zone of the Earth ?
(a) Ecosystem
(b) Biosphere
(1:) - Atmosphere
Biomle

(@

Infectious diseases can spread through
various means, such as air (sneezes and
coughs), water, food, insects and . vectors.

" ‘Which one of the follovﬁng'dis:eases does not

.21,

" ()

have a vector ?
. AIDS
(b) Malaria
() Dengue
Zika

@

In which one of the following kingdoms, would
you place an organism which is eukaryotic,

multi-cellular and non-photosynthetic ?

(a) Protista '
(b) Monera
(¢) Fungi
(d) Animalia
KLFG-U-VBY

28.

(9-A)

(-

Which one of the following cell organelles is

not lined by membrane ?

(@)

Lysosome o g
(b) Ribosome
(9] . Nucleus -

(d) Golgi Apparatus

"What is the time difference between the

actual sunset and aﬁparent sunset ?
(a) About; half a minute
(b) About-'one minute
() _ Aboutitwo\‘mir»mtes

About twenty minutes

Which of the following are called the ‘Ports of
Call’? o |

"These ports have only strategic

(a)
importance
() Ports where goods are brought for

~ export from different countries
(¢) Ports where ships used to anchor for
refuelling

(d) Ports. which are exclusively concerned

with transportation of passengers
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(d)

-

Tropic of Capricorn passes through which one
of the following countries ?

(a) Bolivia

(b) Botswana
(¢) Zimbabwe
(d) Uruguay

Which one of the following river valleys is
associated with the production of coal ?

(a) Sone

(b) Alaknanda
(¢) Chambal
(d) Yamuna

Which one of the following rivers flows

through the Shipki La Pass ?
(a) Ravi '

(b) Jhelum

(c) Beas

(d Satlyj

Which one of the following States does not
make boundary with Chhattisgarh ?

(a) ' Jharkhand

~(b) Bihar
(¢) Odisha
Telangana

The Sarkaria Commission relates to which
one of the following areas ?

(a) Constitution of Urban Panchayats

(b) Centre-State relations

() Electoral reforms

(d). Appointment of judges to High Courts

Who appoints the Chairperson of the Public
Accounts Committee of the Parliament ?

(a) ' Speaker, Lok Sabha
(b) Chairman, Rajya Sabha
(c) President of India

(d) Leader of the majority party in the Lok
Sabha

317.

38.

39.

40.

(11=A)

Match List I with List IT and select the correct
answer using the code given below the Lists :

List1 List IT
A. Total Revolution 1. George
- Fernandes
B. Garibi Hatao 2. Jaya Prakash
Narayan
C. Shah Commission 3. Indira Gandhi
D. Railway Strike 4. Janata Party
. Government
Code: -
. A B C D
@ 2 4 3 1
(b)y 2 3 4 1
() 1 3 4 + 2
@ 1 4 3 2

Which one of the following is related with the
doctrine of ‘Separation of Powers’ ?

(a) Supreme Court, High Courts and
District Courts

Lok Sabha, Rajya Sabha and State
Legislatures

() Legislature, Executive and Judiciary
(@) - President, Prime Minister and Judges

(b

Which one of the following statements is not
true in regard to the National Human nghts
Commission ?

(a) It can inquire suo motu on a petition.

(b) It is a body of the Government of India.

(¢) It can review any matter including acts
of terrorism that inhibit the enjoyment
of Human Rights.

d)
Which one of the following is related to the

It spreads Human Rights literacy.

‘Vishakha Guidelines’ ?

(a) Prohibition of child marriage

(b} Female foeticide

(¢) Sexual harassment of women at
workplace

(d) Prohibition of dowry
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()

The Act to make daughters an equal co-heir
with the sons was enacted in :

(a) 1955

(b) 1956

1961

(d 1975

Who among the following was the first
Viceroy of India under British Rule ?

(a) Lord Dalhousie -

(b) Lord Cornwallis

(¢) Viscount Canning

(d) Earl of Mayo

Which one of the following Indian cities was
labelled as ‘Urbs Prima in Indis’ after the
opening of the Suez Canal in 1869 and its
links with the world economy ?

(a) Bombay
(b) Madras
(¢) Calcutta
(d) Surat

Which one of the following was the main '

purpose of the Lottery Committee (1817)
formed in Calcutta ?

(a) Regulating Club Lotteries

(b) Drawing lots for military recruitment
(c) Orgamzmg town planning

(d) Checking street gambling

Which one of the following was not a Shaiva
tantric sect ?-

(a)
(b)
(c)
@

Sahajiyas
Kapalikas
Kalamukhas
Nathas

41.

49.

(13-A)

(a)

At the Second Round Table Conference,
who among the following led the FICCI
delegation ?

(a) J.R.D.Tata

(b) Homi Mody

() J.L.Bajaj

d G.D.Birla and Thakurdas

Who among the following headed the Indian
States Committee formed in the year 1928 ?

(a) Motilal Nehru

(b) Sir Harcourt Butler
(¢) Ian Copland

(d MA. Jinnah

If the sum of five consecutive even numbers is
equal to the product of first five natural
numbers, then which one of the following is
the largest of those even numbers ?

(a) 30
(b) 24
(c) 26
(d) 28

In a group of 30 students, each student has
opted for at least one of the two subjects,
Hindi and English. Twelve of them have opted
for Hindi and twenty-two have opted for
English. The number of students who have

opted for only English is :
(a) 22 '

(b) 18

() 12

d 8

The sum of the numbers 3, 6, 9, 12, ... up to
the 20* term is : ‘

600

1260

630

960

(b)
(©
@
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(a)

A solid metallic sphere of 2cm radius is
melted. dnd converted to .a cube. The 81de of
the cube is approximately equal to : :

(a 24cm
2:8 cm
© 32cm
(d 36cm

‘B’ is 28 years older than ‘A’. Aﬂ:er 12 yeare
ﬁ'omnow,theageof‘B’wﬂlbetmcetheage

_ of‘A’. The present age of ‘A’ ig

(a)
®)
(c) 30years
Gy

10 years
" 12 years

16 years

Suppose, ‘A’ can complete a job in 10 days,
and ‘A’ and ‘B’ together can complete the same
job in 6 days. In how many days can ‘B’ alone
complete the job ? :

15 days

() 12days

(0 18days
- (D)

/

20 days

The blue colour of the sky and the reddening
of the Sun at sunrise and sunset are caused
due to the phenomenon of :

(a) dispersion of light. ‘ ’
(b) reflection and refraction of light.
(c) aberration of light.
(d) scattering of light.

Which one of the following materials cannot
be used to make a lens ?

(a) Water

(b) Glass.

(©) Plastic

(d Clay

57.

“(a)

@

()

Dioptre is the SI unit of :
(a)
(b)
(¢) power of the lens.

(d) magmﬁcatlon produced by a lens.

size of the lens.

curvature of the lens.

The image formed by a plane mirror is :
@ always virtual and erect.

(b) always virtual but erect or. inverted
depends upon the size of the object.

(c) never virtual but always erect.
always réal and erect.

Dyes in black ink can be separated by :
(a) evaporatlon
centrifugation.
sublimation.

chromatography.

(e
@

- The main constituents of afmqspheric air

are Oxygen (Op) and Nitrogen (Ny). The
composition of Oy.and Ny, is approximately :

'29% and 70% respectively.
(b) 19% and 80% respectively.
(c) 21% and 78% respectively.
@ 23% and 76% respectively.

Which one of hthe following is"th.e largest
3-digit number which vihen divided by 12, 15.-

and 18 respectlvely, glves a remamder 6 in .
each case ? V

(a) 955
) 905
() 995
(d 756

(15-A)
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From a pack of 5 green balls and 4 red balls,

"2 balls are drawn at random. What is the

probability that both the balls are of the same

) eolour".7
@ &9
(b 49
| (0 29

KLFG-U-VBY

)

(d) . None ‘of the above

LN

If o and B are the roots. of the equation
T X2 Tx 11,=:0, thenthevalueofoc3+6318

equalto )
(ay 112
® 7
© 49

(@ 224

Which one of i:hé following substances shows
sublimation behaviour or property at
standard temperature and pressure ?

{a) -Solid carbon dioxide -
® Water '
(c) Liquid nitrogen

Iron

Which one of the followmg compounds is

" present in antacid tablets or medicines which
~are used to cure mdxgestmn and acidity in the

stomach ?

(a) Sodium hydrogide :
(b) - Potassium hydroxide
(¢) Lithium hydroxide
(d) Aluminium hydroxide

67.

(17-A)

.~ What is the state of matter in a glowing -

fluorescent tube ?

(a) Gas
() Liquid
.(¢) Plasma

" (d) Bose-Einstein Condensate

Kaleshwaram Lift Irrigation Project, often
discussed in media, is built across which one

of the following rivers ?
(a) Cauvery
(b) Godavari -

(¢). Krishna

) | Penneru .

Recently, in‘ which one of the following
countries- did - the military oust the

' Government and seize power ?

(a) Belarus
(b) A Costa Rica
.. (& Sudan

(d) ' Turkmenistan

Recently, the WHO has approved the
widespread use of the World’s first vaccine
against which one of the following
diseases/infeetions ? ' '
(a) Hepaﬁtis Cc

() Nipah Virus

(¢) Malaria

(@ Zika Virus
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The Central Government is planning to make
major interventions in which one of the
following regions of India to make it an oil
palm hub ?

(a) Coromandel Coast

(b) North-Eastern States

(¢) Rayalaseema

(d) Saurashtra

Which one among the following countries,
which was in the news recently, has lost more

. than 90% of the value of its currency in two

years ?

(a) Algeria
(b) Lebanon
(¢) Morocco
(d) Turkey

Recently, the Supreme Court of India ordered
the laying of underground high-voltage power
lines in Gujarat and Rajasthan to save the :

(a) Great Indian Bust_ard.
(b) Great Indian Hornbill.
(c)  Spot-Billed Pelican.

(d) Sarus Crape.

Consider = the following statements with

respect to Polavaram Project oﬁaen mentioned
in the news : :

1. It is being constructed on river
Godavari.-

2. It is meant to supply irrigation water to
parts of Andhra Pradesh, Telangana
and Chhattlsgarh

Which of the statements given above is/are
correct 7

(@) 1lonly

(b) 2only

() Both1and2
(d) Neither 1 nor 2

73.

74.

75.

(19-A)

Which one of the following statements with
regard to  historical importance of
Kushinagar, is correct ?

(a) . Siddhartha Gautama’s ‘great departure’
took place here and he became an
ascetic, a Sramana.

(b) Siddhartha Gautama, obtained  his
enlightenment here and he became

Buddha.

(c) Buddha gave his first sermon known as
Dharmachakra-parivartana sutra.

(d Buddha passed away here, which is

known as Mahaparinirvana.

What is ‘PM Gati Shakti’ often seen in the
news ?

(@) An integrated  digital platform for

infrastructure development

(b) A poverty a11ev1at10n programme of the
Umon Government

(© A holistic welfare programme meant for
migrant labour

(d A master plan to develop the country’s

defence capabilities

The concept ‘fallback Liability’, recently in the
news, is in relation to :

(a) the Central Government grants to

States.
(b)  business-of e-commerce companies.
(c) recapitalisation of public sector banks.

(d) merger of small banks with big banks.
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PART B
PROFESSIONAL SKILL

Card reader as a means of Access Control is
becoming popular as compared to a human
guard. In this context, which one of the
following statements is not correct ?

(a) . It offers better security as it cannot be

bribed.

(b) It is more economical.
(¢) It can never fail. \
(d) Itis always alert.

Which one of the following is not a function of
Personnel Access Control System ?

(a) To prepare Identity Card
(b) To interrogate
() To take decisions
(d) To respond
Which one of the following is not detected by
- fire detectors ?
‘(a) Radiation
(b) Heat
(¢) Light
(d) Smoke
Night Vision Devices do not consist of ;
(a) Telescope.
(b) Binocular.
(¢) X-rays. '
(d) Infrared image converter tube.

Which one of the following is nof a High
Intensity Explosive ?

(a) TNT

(b) RDX

(c) Black gunpowder
(d) Plastic explosive

Which one of the following breeds of dogs is
not suitable as sniffer dogs in aviation
security ?

(a) German Shepherd

(b) Cocker Spaniel

(c) Labrador

(d) Pomeranian
KLFG-U-VBY
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(21-A)

- (b)

Metal detector is meant to detect the presence
of which of the following in the search object ?

(a) Ferrous metal only
(b) Ferrous and plastic objects only
(c) Ferrous and non-ferrous objects only
(d) Ferrous, non-ferrous and plastic objects
The fee received by CISF for Technical
Consultancy Services to industrial
establishments is credited to :
(a) CISF Welfare Fund.
CISF Consultancy Fund..
(¢) Consolidated Fund of India.
(d) Contingency Fund of India.

. Which of the following is/are the basic

function(s) of a CCTV system ?

1. To disallow unauthorised persons to
enter into any building in the premises

2. To allow a person to observe a scene

. without being present at the scene

3. To allow an activity to be recorded for
future viewing :

Select the correct answer using the code given

below :

(a 1,2and3
(b) 2only

(¢) 1and3only
(d 2and3only

As per the CISF Act, 1968, which of the
following is mot correct as far as the
procedure to be followed after arrest by CISF
is concerned ?

(a) To hand over the arrested person to the
nearest police station _

To hand over the arrested person to the
management of the undertaking

To hand over the arrested person to a
police officer .

To prepare a report of the circumstances
occasioning the arrest

(b)

()

(d
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In which of the following years were
- amendments in the CISFActbroughtm ?

Wh1ch one of the following is the hlghest
category Protectee ?

(a) Z category protectee
(b)  Z+ category protectee
(¢) SPG protectee

(d) CISF protectee

During the outbreak of fire in a unit, which
one of the following should not be done ?

(a) Stop the fire from spreading

(b) Reach the spot as early as possible with-
proper equipment and sufficient
manpower

- Inform the local pohce and waJt till the
police arrives

()

(d) Rescue of the persons caught in the ﬁre
Random frisking means frisking of :

(ai
(b)
(c)
Gy

persons who are well-built.
persons who are drunk.

at least every fifth person. ‘
few male persons only.

1983, 1989, 1999 and 2011
1983, 1991, 2001 and 2009
1983, 1989, 1999 and 2009 -
1983, 1989, 2001 and 2011

(a)
®)
()
)

Which one of the following is the full form of
X-BIS? :

(a) . X-ray Baggage Inspectlon System

(b) X-ray Baggage Imaging System

(c) X-ray Based Imaging System

(d) X-ray Baggage Identifying System

91.

(23-A)

()

(D

CISF is inducted in an undertakmg after the

approval of MHA and :
(a) orders of Director General.
(b) recruitment of constables.

(© completlon of pre-induction formalities
" and payment of security deposit.

completion of fresh training of all those
CISF personnel who are . ‘going to be
. inducted. .

Gy

In India, which one of the folldvvmg forces is
demgnated to deal with Antl-Huackmg

'operatlons ?

SPG
BSF
NSG .
CISF

(a)
(b)

@

CISF is normally not deployed for
(@) election duty. |

(b)  counter-insurgency duty.

(c) disaster management duty.
(d) VIP security duty.

Landslide caused due- to c1v11 construction
work in a h111y areais :

(a)
(b)
(©)

a man-made disaster.
a natural disaster.
None of the above
Both (a) and' (b) above

As per the CISF Rules, 2001, which one of the
following is not a Major Penalty ?

(a)
(b)
(c)
(@

Dismissal from service
Withholding of promotion
Compulsory retirement . -
Removal from service
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Which one of the following areas of the
Airport does not fall under Airside as far as
security of Airport is concemed ?

(a) - Tarmac
(b)' Visitors car parking aree.
(¢) Terminal building
(d) Runway
87. Asper the CISF Rules, 2001 which one of the
following is not a follower ?
(a) Fitter - '
(b)  Switch Board Attendant
(c) Painter '
(d) Tailor
98, Which one of the following statements is not
' correct ? -
(@ The supemsmn of CISF vests with DG,
CISF. _ .
(b) The administration of CISF vests with
DG, CISF.
(¢) The command of CISF vests with DG,
- CISF.
W) - The superintendence of CISF vests with
: DG CISF.
99. In which of the following States, is an NDRF
Battalion not located ? ‘
(a) Himachal Pradesh
() Uttar Pradesh
(c)  Arunachal Pradesh
(d). None of the above
" KLFG-U-VBY (25

100.

101.

102.

-A)

GV

Which one of the followmg is the full form of
NDRF ?

(a) National Disaster Reaction Force

(b) National Disaster Responder Force

(¢) National Disaster Response Force

(d) National Disaster Relief Force
Whenever it is necessary to cause a female to

be searched, it is essential that the search
shall be made by :

(a) - any police officer.

(b) any police officer in the presence of a
female.

(¢) another female with strict regard to .
decency. :

(d onlya female pclice officer.

Under which of the following circumstances

may a search warrant be issued by a court ?

1.  Where such document or thing is not
known to the court to. be in -the
possession of any person

2.  Where court considers that the purpose
of any inquiry or trial or other
-proceedings under the Code of Criminal
Procedure, 1973 will be served by _
general seerch

Select the correct answer usmg the code given
below : o

(a) 1lenly

(b) 2only |

(© Bothland2
Neither 1 nor 2 |
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Under which one of the following situations

- may dispersal of assembly by use of civil force

not be commanded by any Executive
Magistrate or Officer-In-Charge of a police
station ?

(a) For disperéal of an unlawful assembly

(b) Assembly of five -or more persons likely
to cause a disturbance of public peace

(c) Assembly of five or more persons likely

to invite more persons to join

The assembly conduct itself in such a
manner as to show a determination not
to disperse

(@

Who amongst the following can issue a
warrant to search the place suspected to
contain stolen property, forged document,
etc. 7 T .

1. District Magistrate

2.  Sub-Divisional Magistrate

3.  Magistrate of the First Class

Select the correct answer using the code given
below :

(a) 1and2only
(b) 2 and 3 only
(¢) 1,2and3

(d 1and3only

Where the property seized under Section 102
of the Code of Criminal Procedure, 1973 is
subject to speedy and natural deeay and if the
person entitled to the possession of such
property is unknown or absent, the property
may forthwith be sold by auction under the
orders of the Superintendent of Police, if the
value of such property is :

(a) more than ¥ 500.

(b) less than ¥ 500.

(¢) less than ¥ 1,000.

(d) more than ¥ 1,000.

(27 -

106.

(a)

107.

108.

A)

‘A’ cut down a tree on ‘B’s ground, with the
intention of dishonestly taking the tree out of
‘B’s possession without ‘B’s consent. Which
one of the follqwing statements is correct ?

‘A’ commits no offence because the tree
is an immovable property.

(b) ‘A’ commits criminal breach of trust.

() ‘A’ committed theft as soon as he
severed the tree in order to such taking.

(d) ‘A’ committed an attempt to theft.

What is the punishment prescribed for the

offence of theft under Section 379 of the
Indian Penal Code, 1860 ?

(a) Imprisonment of either description for a
~ term which may extend to five years or

with fine, or with both

Simple imprisonment for a term which

may extend to five years or with fine, or

with both =

Simple imprisonment for a term which
_.may extend to three years or with fine,

or with both

Imprisonment of either description for a
term which may extend to three years
or with fine, or with both

(b)

(0

@

‘A’, a Revenue Officer, is entrusted with public
money and is either directed by law, or bound
by a contract, express or implied, with the
Government, to pay into a certain treasury all
the public money which he holds. ‘A’
dishonestly appropriates the money. ‘A’ has
committed the offence of :

(a) theft of public money.

(b) criminal misappropriation. )
(¢) criminal breach of trust.

@ cheating.
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Whoever voluntarily ‘assists in eoncealing or

disposing of property which he knows to be
stolen, shall :
(a) not be liable for any offence under the
Indian Penal Code, 1860.
(b) be punished with simple imprisonment,
which may extend to three years or with
. fine.
(¢) be punished with imprisonment of
. either description which may extend to
three years or with fine or with both.

- (d) .be punished with simple.imprisonment,
which may extend to five years or with
fine.

110. ‘A’ is having joint property with “Z’ in a horse.

- ‘A’ shoots the horse with the intention to

‘cause wrongful loss to ‘Z". ‘A’ has committed
which one of the following offences ? _ '
(a) Breach of trust ‘

- (b) Trespass of property -

- (0  Mischief, '

C) Cnmmal misappropriation -

I11. A person shall be punishable with rigorous
imprisonment for a term which may extend to
ten years, and shall also be liable fqr a fine, if
the person : X
(a) commits  theft, * having made

- preparations for causing death or hurt
to any person in order to committing of
such theft. -

(b) causes death of any person while
committing theft.

(c) ' causes grievous hurt to any person

* while committing theft. ‘

(d) - causes simple hurt to any person while
'commltung theft.

KLFG-U-VBY (29

112.

118.

114.

- (b)

1185.

" (a)

-A)

The Universal Declaration of Human nghts
was adopted in :

(a) 1947
b) 1948
(c) - 1949
@ 1950

The International Bill of Human Rights
consists of the following except the :

(a) = Universal Declaration of Human Rights.’

(b) International Covenant on Civil and
Political Rights.

(c) International Covenant on Eeonomic;
Social and Cultural Rights.

(d) International Court of Justice.

In India, for better protection of human
rights, the National - Human Rights
Commission, State Human Rights
Commissions and Human Rights Courts are
constituted under :

(a) The Human Rights Act, 1988.

‘The Protection of Human Rights Act,
1993. ‘ ‘

The Protection of Civil Rights Act, 1955.
The International Bill of Human Rights,
1948. ' '

(©
@

The Chairperson of the National Human
Rights Commission is appointed by the :

President of India.
Prime Minister of India.

Chief Justice of the Supreme Court of
India. :

Minister-in-charge of the Ministry of
Home Affairs. -

(b)
(c)

(d)
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116. The National Human Rights Commission | 118.
shall, while inquiring into the complamts for
-violation-of human rights, have all powers of :

(3)  a High Court.

b) a Civil Court only.

(¢) aCriminal Court only. -

4+ (@ both Civil and Criminal Courts.

117. While dea.hng with complaints of vmlatlon of
human ‘rights by members of the armed |
forces, the National Human Rights | 119.

- Commission shall adopt whxch of the following
procedures ?

1. It may, elther on its own. motlon or on
receipt of a petition, seek a report from |
the Central Government. '

2. After the receipt of the report it may -
proceed with complaints and make its
recommendations to that Government.

3. The Central Goverhment shall inform
the Commission of the action taken on

" the reoommendatmn within three

months or w1thm the time extended by

. the Comms510n

. | 120.

Select the correct 'answer. using the code given

- below : S ' : '

(a) 1lonly

(b) 1and?2 only

(© 1,2and3 .

(d 2and3only

KLFG-U-VBY (31-A)

Which of the following statements is/are
correct ?

The Employees’ Provident Funds and
Miscellaneous Provisions Act, 1952 is
generally applicable to every establishment :

1. which deposits GST of more than
¥ 50,000 per year.

2. employing twenty Or more persons. -
Select the correct answer using the code glven

. below :

"~ (a) 1lonly
(b) Z2only
(c) Both1land?2

(d) Neither 1 nor?2

What is the term of the Presiding Officer of

Employees’ - Provident Funds Appellate °
Tribunal ? .
(a) TFive years from the date on which he

enters upon his office or until he attains
the age of 62 years, whichever is earlier

(b) Five yeers from the date on which he

enters upon his office or until he attains
the age of 65 years, whichever is earlier

(c) Three years from the date on which he’

enters upon his office or until he attains
the age of 62 years, whichever is earlier

(d) Three years from the date on which he
- enters'upon his office or until he attains -
the age of 65 years, whichever is earlier

The total number of members of Grievance
Redressal Committee, established under the
Industrial Disputes Act, 1947 shall not
exceed : S

(a) Five
(b) Seven
© Six
(@ Eight
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121. The provisions in relatioﬁ to the illegal strikes
and lock-outs are given under:

(@) Section 22 of the Industrial Disputes
Act, 1947,

(b) Section 23 of the Industrial Disputes
Act, 1947.

(c) Section 24 of the Industrial Disputes
Act, 1947,

(d) Section 29 of the Industnal Disputes
Act, 1947.

122. Which of the following is/are the condition(s)
precedent to valid retrenchment of a workman
under the Industrial Disputes Act, 1947 ?

1. The worknian has been given one
month’s notice in writing indicating the
reasons for retrenchment °

2.  The workman has been paid at the time
of retrenchment compensation which
shall be equivalent to fifteen days’
average wages for every completed year
of continuous service

3. The workman has been paid, at the time
of retrenchment, compensation which
shall be equlvalent to wages of thirty
days service

Select the correct answer using the code given

below :

(a) 1lonly

(b) 1and2only

(¢) 2only

(d 1and3only

KLFG-U-VBY

123.

124,

125.

(33-A)

(@

When is the employer not liable for payment
of compensation to an employee ?

(a) If personal injury is caused to an
employee during the course of his

employment

If the employee has contracted a disease
specified as an occupational disease
peculiar to that employment

(b) -

If the injury resulting in partial
disablement was caused by accident
that happened due to the wilful
disobedience of the employee to an order
expressly given for the purpose of
securing the safety of the employees

(c)

In respect of any injury which resulted
in the partial disablement of the
employee during the course of
employment for more than three days

The Chairperson of the Central Vigilance
Commission is also known as :

(a) Vigilance Commissioner.

(b)  Chief Vigilance Officer.

(c)  Central Vigilance Officer.

(d) Central Vigilanée Commissioner.

Any fact from which, either by itself or in

connection with other facts, the existence,
non-existence, nature or extent of any right,
liability, or disability, asserted or denied in
any ‘suit or proceeding, necessarily follows is
known as :

(a)
(b)
(©)
(d)

Relevant fact.
Irrelevant fact.
Fact in issue.

Fact in law.
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126. When is a confessional statement by an
accused to be proved against him in criminal
proceedings ? ‘

1. When it is made to a police officer

2.  When it is made .in the immediate
presence of a Magistrate

3. Whenitis madetoa feépectable ‘person
of the locality where he resides

‘Select the correct answer using the code given

below: - :

(@) 1lonly

(b) 2only

(c) 3only

d .1,2and3

127. Which one of the followmg is not a pubhc
document ? :

(@) Documents forming the acts, or reoords
of the acts of the sovereign authonty
- (b) Documents of unregistered will
(c)  Public records of private tdocuments .
(d) Records of acts of tribunals
128. Which one of the foliowing pairs is not
~ correctly matched as per the Indian Ev1dence
Act, 18727
(a)  Section 101 Burden of Proof
() Section 135 : Order of Production
' and Examination of
' Witnesses
(¢) * Section 120 : Dymg Declaration
(d) Section129.: Confidential
. Communication with
Legal Advisors
KLFG-U-VBY
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129.

130.

131.

132.

A)

Which one of the following- statements with

- respect to number of witnesses is not correct ?

(a) No particular number of witnesses shall
in any case be required for the proof of
any fact.

It is the quality of the evidence and not
the quantity of the evidence which is
required to be judged by the court.

It is held in many judgments that
reliance cannot be based on the solitary
statement of a witness in any situation. -
The legal system has laid emphasis on

- -value provided by each witness, rather .
than multiplicity or plurality of witness.

(b)

(0

GV

To prosecute a public servant, prior sanction
from the Central or State Government is
necessary. The provision for previous sanction
necessary for prosecution of public servant for
offences punishable under Sections 7, 11, 13
and 15 of the Prevention of Corruption Act is
mentioned under which one of the following

. Sections of the Prevention of Corruption Act,

1988 ?

(a) * Section 19
(b) Section 18A
(¢) Section 20
(d) Section 22

Which of the  following Sections of the
Prevention of Corruption Act, 1988 makes
provision regarding Appeals and Revision to
the High Court ?

(a) Section 25
(b)  Section 27
(¢) Section 32.
(d) Section 34
Punishment for culpéble homicide - not

amounting to murder is given under which
one of the following Sections’ of the Indian
Penal Code, 1860 ?

(a) Section 302
(b) Section 304
(c)  Section 299
(d) Section 300
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133.

. ‘A’, the Captain of -a steam vessel, suddenly

and without any fault or negligence on his
part, finds himself in such a position that,
before he can stop his vessel, he must
inevitably run down a boat ‘B’, with thirty
passengers on board, unless he changes the
course of his vessel and faces the risk to.run
down boat ‘C’, with two passengers on board.

‘A’ altered his course to save passengers in |

boat ‘B’ without any intention to fun down the

- boat ‘C’ and in good faith. I the process of

_ (a)

134.

135.

KLFG-U-VBY

altering his. course, he runs down boat ‘C’
with 2 passengers. In this case, ‘A’ can be

held guilty of which one of the oﬂ'ences given |

below ?
Causing death by rash and negligent act

)
murder

Murder
Not guilty of any oﬂ'ence

(c)
GV

Which. of the following- Acts 1s/are not
applicable to Central Industrlal ‘Security
Force (CISF) ?

1.  The Payment of Wages:Act, 1936

2. The Industrial Disputes Act, 1947

3.  The Indian Penal Code, 1860

4.  The Factories Act, 1948

Select the correct answer usmg the code given
below :

(a)
(b)
(©
CY

1,2a.nd4on1y
2, 3 and 4 only
1and 4 only
2only

Which one of the following pairs is not |

correctly matched, as per the Central
Industrial Security ' Force Amendment Act,
1983 ?

(a) Senior Security Guard :
(b)  Chief Security Officer
(¢) Head Security Guard
d) Security.Oﬂicer '

Naik

: Commandant
: Constable

: Assistant
Commandant

(37

Culpable homicide - not amountmg to|

136.

137.

138.

139.

-A)

(©)

For the purpose of inquiring into any oﬁ'ences
or trying offences specified under Section
18(1) of the Central Industrial Security Force
Act, every officer holding the rank of
Commandant or equivalent, shall exercise the
powers ofa; :

(a) Magistrate of the First Class.
® Magistrate of the Second Class.
(¢) Sessions Judge.

(d) "Additional Sessi_ons Judge.

Which one of the following is no# correct with _
respect to the ‘conditions of ehglblhty for
appomtment to the CISF ?

(a) The person shall be a citizen of India

(b) The person shall have training in civil
defence

(c) The person shall bear a good moral
“character

The person shall belong to such
categories of persons as may, from time
to time be declared by the Central
Government as being  eligible for
appomtment to the CISF

d .

Wh1ch one of the following is not covered
under minor penalties imposed on a
Government servant ? ' :

(a) Censure

(b) Withholding of promotion

(¢©) Compulsory retirement

(d Recovery of pecuniary loss

The question whether the Central

Administrative Tribunal could interfere with
penalty awarded by the,compebent authority
on the ground that it is excessive or

_dlsproportlonate to the misconduct . proved,

was examined by the Supreme Court of India
in which one of the following cases ?

(a) Excel Wear vs. Union of India
(b) Sagir Ahmad vs. State of Uttar Pradesh
L. Chandra Kumar vs. Union of India
Union of India vs. Shri Parma Nanda

~

d)
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 (a) Torem .

L@ mﬁa

142.
143.

@
144,

" 148.
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®) TR
(c). TR

1 KB e aﬂgﬂ 272
(a) 1042 bytes
(b) 1023 bytes
(¢ 1021 bytes
(d) 1024 bytes

TF Byte (d1%2) # Pﬂ% bits (ﬁiza) HEH

e & 2

b) 4
c) 8
16

NOTgate(qqaﬁaﬂz)ﬁﬁ:aﬁsagzﬂﬁﬁ
ﬁmmq%‘r

(a)

M) 1 |

© 3

@ 4

%:W (Debugger) 1 22
(a) TIFRAW
(b) B

- () mmaﬁmmm

@ 9w H A B A

146.

147.

1001 71 101 % Lot a'ém (ﬁenmlﬁ
aHe) H1 RO T4 % ?

(a) 1011 -

(b) 1001

() 001

d 100

Preffin § @ Pwd Rwa W da

| (R, SR sioem) W oA @@ d

ffm s N Fasiw 2

. (a) Prget (b))

b g5 (3fe)

() TR (R

1 148.

149.

‘150.

~ (38-A)

@ orEn-aEe (@)

freafiefa 3 @ A Yo B e 7 2 2
@ IREH -
(b) NI

ORRIRCK A

@ uash,

ﬂﬁmaﬁmﬁim 27001%1%59%1%111 .
?? ’
(a) I G YEE
(b) YO V&Y
(¢) gw yEu=

@ wfawﬂam

‘Mwﬁaﬁwmw%m

frefoafga o @ ﬁm H‘Taaﬁa & R
AR ?

(a) Qa?ﬂ?ﬁtﬁ@f

(b) WAAR.
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(d) Suadd.
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Which one of the following is nof included in

- the Human Resource Policy of CISF ?

141.

142,

143.

144.

148,

KLFG-U-VBY

- (d)

(a)
(b)
(0

Harmoqious_ cadre management
Departmental disciplinary actions:
Mentoring and team building for direct
officers to ensure optimal performance

() Continuous performance appraisal

Which one of the foliowing is a sequential
electronic circuit that is used to store 1-bit
information ? '

(a) Register

(b) Flip-ﬂop

(c) Counter

Accumulator

1 KB is equivalent to : .
(a) 1042 bytes.

() 1023 bytes.

() 1021 bytes.

(d) 1024 bytes.

How many bits combination is present in a’
Byte ? '

(a) 2

b 4

() 8°

@ 16

How many input lines are ‘there in the

-NOT gate ?

(a 2
b 1
© 3
@ 4
Debuggeris a:

(a) Software.

(b) Hardware.

() Combination of software and hardware.
(d) None of the above

146.

147.

148.

(=

149.

150.

(39-A)

The result of binary subtraction between
1001 and 1011is:

(a) 1011
(b) 1001
(c) o001
(d) . 100°

Which one of the following is a technique of
dividing the physical memory space into
multiple blocks ?

(a) Fragmentation

() Paging
(c) Segmentation

@ Swapping

Which one of the following is mot a raster -

image format ?
JPEG
GIF
PNG

SVG

(b)
(©)
d)

The ISO/IEC 27001 Standard is for :

(a) Information Security Management.
(b) Quality Management.

(¢) Risk Management.

(d) Environmental Management.

Which one Qf the following protocols is used
for secure communication over a computer
network ?

(a) HTTPS
(b) HTTP
(© FTP
(d DHCP
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